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PSU ml/|
10m 10m m
7 11.2 11.2 10.8 334 334 335 9.2 6.30 6.31
12.2 12.2 12.3 325 32.4 325 7.8 5.94 5.90
-1.0 -1.1 -1.5 0.9 1.0 1.0 14 0.36 0.41
14 10.8 10.8 10.8 33.6 33.6 33.7 7.6 6.47 6.43
11.7 11.7 11.8 325 32.5 32.8 6.0 5.94 5.95
-0.9 -0.9 -1.0 1.1 1.1 0.9 1.6 0.53 0.48
4 11.7 11.6 11.6 33.7 33.7 33.8 7.3 6.19 6.14
12.3 12.3 12.3 32.8 32.8 32.8 7.3 6.03 5.91
-0.6 -0.8 -0.7 1.0 0.9 0.9 0.0 0.16 0.23
47 1972 8 1996
58 1983 8 1996
55 1980 9 1997
1
Oo 0.60
060 130
130 200
200
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0.00 0.00f 0.00 0.00p 0.00 0.00 0.13 5.25
0.00 0.00p 0.00 0.00f 0.00 0.00 0.00 5.20
0.00 0.00) 0.00 0.00] 0.00 0.00 0.00 0.00
0.00 0.000 0.00 0.00] 0.00 0.000 0.04 4.44
- 0.0% - 0.0%
- - 0.0% 0.0%
- 0.0% 1 0.0% 0.0%
- 0.0% ] 0.0% 0.0%
55 1980 12 2000
5 1993 12 2000







